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QUESTION 1

For which scenario should an architect recommend Aruba Central Managed Portal (MSP)?
A. for a service provider who needs to monitor multi-vendor environments

B. for an enterprise that needs to manage data center services together with the network
C. for a service provider who needs to manage multiple customer networks

D. for an enterprise with many branches that needs to manage services centrally

Correct Answer: D

QUESTION 2

An architect needs to plan a very high density (VHD) wireless network at a large events venue, at which thousands of
attendees are expected. The architect plans to deploy a cluster of Mobility Controllers (MCs) to control the APs. It is
important to support seamless roaming for wireless devise across the venue.

What should the architect ensure for the network services?

A. DHCP servers can support a high number of scopes with a /24 size.

B. A third-party firewall integrates with ClearPass to filter the guest user traffic.

C. A domain CA is set up to deploy certificates to a high volume of guest devices.

D. DHCP and DNS servers are carrier-grade and support a low transaction time.

Correct Answer: B

QUESTION 3

An architect needs to plan 802.11ac wireless deployment for an office environment with a mix of closed offices and
cubicles. The coverage area is approximately 4,645 square meters (approximately 50,000 square feet) and has 350
users. The employees use the wireless network for typical office applications, such as email, Web, printing, and
accessing shared files and datacenter services.

The architect plans to do a predictive site survey and use VisualRF to plan the coverage.

What is a general estimate for the AP count that the architect should have in mind?

A.5-10

B. 10-15

C. 20-25

D. 40-45
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Correct Answer: D

QUESTION 4

Refer to the exhibit.
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A customer needs to upgrade the wireless network at their campus, which has a single large building. Employees use
the wireless network to access the Internet and centralized services. The building has four floors. These are the
requirements: 30 APs on each floor A Mobility Master (MM)-based architecture Deployment of one Aruba 7030 Mobility
Controller (MC) on each floor, with the MCs combined in a cluster for seamless client failover and roaming

What should the architect explain to the customer about the proposed solution?

A. MCs should be deployed centrally on the same VLAN to better meet these goals

B. MCs in a cluster must have additional AP licenses to support APs of a failed controller

C. The MC 7030 does not support enough APs for the requirements

D. The MC 7030 only supports clusters with up to three members

Correct Answer: A

QUESTION 5

What should an architect use as a guideline to determine when to define another VLAN for wireless devices?
A. the WLAN or SSID, with a different VLAN for each SSID

B. the AP deployment, with a different VLAN for each AP that is deployed

C. the number of devices, with a different VLAN for each 250 devices
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D. the employee roles, with a different VLAN for each role or department

Correct Answer: D
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